
Year Five
Maths

Lesson 5 



Fluency Starter

• Keep up your daily practice of 5 a day 
https://corbettmathsprimary.com/5-a-day/ and challenge 
yourself to Bronze, Silver, Gold or Platinum!

• Or Complete Flashback 4 for your daily starter (on the next 
slide).

• Log on to Doodlemaths for 15 minutes each day and try and 
keep in the Green Zone. 

• There are also some Maths activities on Purple Mash to 
complete. 

https://corbettmathsprimary.com/5-a-day/


Fluency Starter



Fluency Starter Answers 



Lesson Aims

• I can divide 3 digit numbers by a 1 digit number



’

St Paul’s Travel Company

aisle

12 × 2 = 24 seats

12 × 3 = 36 seats

5 seats

Ideally, they need to fit between 50 and 70 people on the 

coach. The back seat can be 5 or 6 seats and the rest of 

the seats must be in an equal number of rows of 2, 3 or 4 

with an aisle down the middle. 

How many different ways can you find to arrange the 

seats so that 50 to 70 people can travel on the coach?

For example, this arrangement of seats fits 

65 people on.



What Is Short Division?

1 2 r1

4 4               9

divisor
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dividend



’

Bookings

3 6               9 3

32 1

Start at the left and share 6 hundreds into 

3 groups. This makes 2 hundreds in each 

group. Write the 2 above the line. 

A simpler way you could think of this is:

6 (hundreds) ÷ 3 = 2 (hundreds),

so write 2 above the line. 

Next, divide 9 (tens) by 3. 

9 (tens) ÷ 3 = 3 (tens),

so write 3 above the line. 

Finally, divide 3 by 3. 

3 ÷ 3 = 1, so write 1 above the line. 



First, look at the hundreds column.

Share these 3 hundreds into 4 groups. 

This can’t be done without breaking

up the hundreds, so we write 0 above

the line and regroup, moving the

30 tens across into the tens column. 

A simpler way you could think of

this is: 3 (hundreds) ÷ 4 can’t be done,

so move the 3 (hundreds) into the

tens column. 

Now, we have 32 tens to share into 4 

groups. 32 (tens) ÷ 4 = 8 (tens), so

write 8 above the line.

Finally, share 8 into 4 groups.

8 ÷ 4 = 2, so write 2 above the line.

’

Regroup

4 3               2 8
3

80 2



First, look at the hundreds column. 

Share these 3 hundreds into 4 groups. 

This can’t be done without breaking up 

the hundreds, so we write 0 above the 

line and regroup, moving the 30 tens 

across into the tens column. 

A simpler way you could think of this 

is: 3 (hundreds) ÷ 4 can’t be done, so 

move the 3 (hundreds) into the

tens column. 

Now, we have 32 tens to share into 4 

groups. 32 (tens) ÷ 4 = 8 (tens), so write 

8 above the line.

Finally, share 6 into 4 groups. This 

makes 1 group of 4 but leaves 2 left 

over. Write r (remainder). 1r2. 

’

Remainders

4 3               2 6
3

r2180



Checkup

484 ÷ 4 =

312 ÷ 6 =

753 ÷ 7 = 

121

52

107r4



Left-Luggage Division



Inverse Check

Use short 

multiplication to 

check five of the 

answers from the 

Left-Luggage Division

Activity Sheet.

If you made any 

mistakes, do the 

calculation again 

correctly.

1 1 3

× 6

6 7 8

1

1 1 3

6 6               7 8

1

If your answer is 

correct, this number 

should be the same 

as this number.

If your calculation had 

a remainder, this number 

should be the same as 

this number plus the 

remainder, e.g.

675 ÷ 6 = 112r3

112 × 6 = 672 + 3 = 675



Problem Solving



Problem Solving

• How many ways can you find?



Problem Solving

• How many different ways did you find?

• Can you explain your reasoning?


